
SAP ABAP table RJKSDDEMAND_DETAIL {IS-M: Details of Planned Quantities}

RJKSDDEMAND_DETAIL

MANDT [CLNT (3)]

VERSION [CHAR (10)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ISSUE [CHAR (18)]

REASONCODE1 [CHAR (2)]

REASONCODE2 [CHAR (2)]

REASONCODE3 [CHAR (2)]

REASONCODE4 [CHAR (2)]

REASONCODE5 [CHAR (2)]

REASONCODE6 [CHAR (2)]

REASONCODE7 [CHAR (2)]

REASONCODE8 [CHAR (2)]

REASONCODE9 [CHAR (2)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 RJKSDDEMAND_DETAIL-ISSUE = MARA-MATNR 

0..N

0..N

T000

MANDT [CLNT (3)]

 RJKSDDEMAND_DETAIL-MANDT = T000-MANDT 

0..N

0..N

TJKSDREASONCODE

MANDT [CLNT (3)]

REASONCODE [CHAR (2)]

 RJKSDDEMAND_DETAIL-REASONCODE1 = TJKSDREASONCODE-REASONCODE 

0..N

1  RJKSDDEMAND_DETAIL-REASONCODE2 = TJKSDREASONCODE-REASONCODE 

0..N

1  RJKSDDEMAND_DETAIL-REASONCODE3 = TJKSDREASONCODE-REASONCODE 

0..N1  RJKSDDEMAND_DETAIL-REASONCODE4 = TJKSDREASONCODE-REASONCODE 

0..N1  RJKSDDEMAND_DETAIL-REASONCODE5 = TJKSDREASONCODE-REASONCODE 
0..N

1  RJKSDDEMAND_DETAIL-REASONCODE6 = TJKSDREASONCODE-REASONCODE 0..N1

 RJKSDDEMAND_DETAIL-REASONCODE7 = TJKSDREASONCODE-REASONCODE 
0..N

1

 RJKSDDEMAND_DETAIL-REASONCODE8 = TJKSDREASONCODE-REASONCODE 

0..N

1

 RJKSDDEMAND_DETAIL-REASONCODE9 = TJKSDREASONCODE-REASONCODE 

0..N

1
TJKSDVERSION

MANDT [CLNT (3)]

VERSION [CHAR (10)] RJKSDDEMAND_DETAIL-VERSION = TJKSDVERSION-VERSION 
1..N

1

VBAP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 RJKSDDEMAND_DETAIL-POSNR = VBAP-POSNR 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 RJKSDDEMAND_DETAIL-VBELN = VBUK-VBELN 

0..N

0..N


